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A—T2CEH) m3 366.9
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BT HEHI (A2) m3 115.6
FE(FFmY
KL EEFEY(CI) m3
BARLT (m3) (193.7)
BIAELEE
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2.5mRiiH (B1(1)) m3

250 EAmEkiE (B1(2)  m3

4mLl E (B1(3)) m3
BT &
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25mEK i (B2(1)) m3 6.0
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(B3) m3 5.4 5.4
HtEL
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(B4) m3 5.3 + 53
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(A1)
BARFENER AR ENLEL=040m m2 540.1
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FEEERE)LEB)
£/ +H=4a/
BB EHERE 0 m2 108.4 871 + 213
EEER(ELTER)
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BB, EHERE | m2 61.3 61.3
FBTAET

EuE m3 287.8 115.6+172.2
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R bk + £ 5 X
|7 B R 5 &
I & A —T Al W2=4m W1Z=4m 1=wi<am Wi<im /DMREE
T#  E;AI
HEKEEY T 78.7 52.3 EitREY
=) it 78.7 52.3
BREE
Y V=523

EBit#H=E R = 787-( 523- (1/09)= 206 m3




EHRTTHERBETES
NO. 1
A 5 2 B XA R TR (L) 0(13) TR LR (H D) c(7_J;> m
Brmm R FHMEE LB B miE THOMEE I R
NO.0 0.0 2.0
KE1-2 9.7 0.3 1.15 1.2
NO.1 10.2 0.0 0.15 15
KA1-2 15.5 0.5 0.25 3.9
NO.3 24.7 48 2.65 65.5
NO.4 20.0 5.1 4.95 99.0
NO.5 20.0 6.9 6.00 120.0
KA2-1 18.4 0.2 3.55 65.3
NO.6+0.9 2.5 0.2 0.20 0.5
&t 121.0 0.0 366.9




EHRTTHERBETES
NO. 1
B 5 % R X PR FREREE £(2.5mK ) IiZ(U ﬂ%rz‘:ﬁj:(zﬁmuﬂmskiﬁ_) B2(2) m
BrmmfE FHMEE LB B miE THOMEE I R

NO.0 0.0 0.0
KE1-2 9.5 0.6 0.30 2.9 0.0 0.00 0.0
NO.1 10.2 0.0 0.30 3.1 2.7 1.35 13.8
KA1-2 15.2 0.8 1.75 26.6
NO.3 24.7 0.0 0.40 9.9
NO.4 20.0
NO.5 20.0
NO.5 0.0
KA2-1 18.4
NO.6+0.9 2.5

&t 1205 6.0 50.3




BT THERENRES

NO. 1
MmaH Empg A RL(mEE)B2AY) ~ i
Brmm e THW@EE L E B miE THWEE I B

NO.O 0.0

KE1-2 9.5

NO.1 10.2

KA1-2 15.2

NO.3 24.7

NO.4 20.0

NO.5 20.0

NO.5 0.0 55 275 0.0

KA2-1 18.4 6.5 6.00 1104

NO.6+0.9 25 6.5 6.50 16.3

&5t 120.5 126.7




BT THERENRES

NO. 1
B 5 % R X PR BE®L B3L) BB ®L B3R m
B E R FHMEE M B W@ iE TUHEE I B
NO.0 0.0 0.0
KE1-2 9.5 0.1 0.05 0.5
NO.1 10.2 0.1 0.10 1.0
KA1-2 15.2 0.1 0.10 15
NO.3 24.7 0.0 0.05 1.2
NO.4 20.0
NO.5 20.0 0.0 0.00 0.0
KA2-1 18.4 0.1 0.05 0.9
NO.6+0.9 2.5 0.1 0.10 0.3

&5t 120.5 5.4 0.0




BT THERENRES

NO. 1
B 5% T PR BLEL BIR) ~ i
Brm e THW@EE I E B mEiE THWEE I B
NO.O 0.0 0.0
KE1-2 10.6 0.1 0.05 05
NO.1 11.9 0.3 0.20 24
KA1-2 15.7 0.0 0.15 24
NO.3 24.7
NO.4 20.0
NO.5 20.0
KA2-1 18.4
NO.6+0.9 2.5

&5t 123.8 5.3




EHRTTHERBETES
NO. 1
ETE- T I e _EREBIAMOD W
g & THIRE m & 8 & FTHRE @ B

NO.0 0.0
KE1-2 9.6 0.00 0.00 0.0
NO.1 10.4 2.24 1.12 11.6
KA1-2 15.3 4.50 3.37 51.6
NO.3 24.7 6.78 5.64 139.3
NO.4 20.0 8.45 7.62 152.4
NO.5 20.0 10.07 9.26 185.2
NO.5 0.0 5.7 2.85 0.0
KA2-1 18.4 5.4 5.55 102.1
NO.6+0.9 2.5 5.4 5.40 135

&t 120.9 540.1 115.6




BT THERENRES

NO. 1
Bmaw xmpg SoerLOLH I8 £ ‘ #
= K IWERER m B & THER [

NO.0 0.0
KE1-2 9.6
NO.1 10.4
KA1-2 15.3 0.0 0.00 0.0
NO.3 24.7 0.4 0.20 49
NO.4 20.0 1.7 1.05 21.0
NO.5 20.0 2.3 2.00 40.0
KA2-1 18.4 0.0 1.15 21.2
NO.6+0.9 25

&t 120.9 87.1




BT THERENRES

NO. 1
Bmaw xmpg SoerLOLTH B & ‘ #
= K IWERER m B & THER [

NO.0 0.0
KE1-2 9.6
NO.1 10.4
KA1-2 15.3 0.0 0.00 0.0
NO.3 24.7 0.6 0.30 7.4
NO.4 20.0 03 0.45 9.0
NO.5 20.0 0.1 0.20 40
KA2-1 18.4 0.0 0.05 0.9
NO.6+0.9 25

&t 120.9 21.3




BRI ITHENEETESE
NO. 1
Amaw mupg S LEPLTELE) % ‘ i
= E THEE B R % B FHEE i

NO.O 0.0 0.0
KE1-2 9.0 1.8 0.90 8.1
NO.1 9.3 1.5 1.65 15.3
KA1-2 14.8 1.0 1.25 18.5
NO.3 24.7 0.0 0.50 124
NO.4 20.0
NO.5 20.0 0.0 0.00 0.0
KA2-1 18.4 0.6 0.30 55
NO.6+0.9 2.5 0.6 0.60 1.5

&Et 118.7 61.3




ZETI HESHE

£ b B BA{L HE 5 =&
MEET
EEEMWA L E)
Al + /4
E&3cm, H=40m m2 19.4 19.4 +0.0
FEFEn (B L &B)
Al + /4

m2 13.3 13.3 +0.0




FEEIEERESTES
NO. 1
Maan xmpg Do ERED , i
= FE THEE B W % & THEE T B

NO.O 0.0
KE1-2 9.6
NO.1 10.4
KA1-2 15.3
NO.3 247 0.0 0.00 0.0
NO .4 20.0 0.2 0.10 20
NO.5 20.0 0.8 0.50 10.0
KA2-1 18.4 0.0 0.40 7.4
NO.6+0.9 25

&t 120.9 19.4




EELHENEEE
NO. 1
B AT XMEEM %iﬁﬁl p L ’ %
R THWEER BB O Z2 R IFWER @ B

NO.0 0.0 0.0
KE1-2 9.0 0.8 0.40 3.6
NO.1 9.3 05 0.65 6.0
KA1-2 14.8 0.0 0.25 3.7
NO.3 24.7
NO.4 20.0
NO.5 20.0
KA2-1 18.4
NO.6+0.9 2.5

&t 118.7 13.3




HKBEYMTI HEEFR

& FF Al R & B6r s & &
fEXLT K T m3 78.7
# R T m3 52.3
fl & B R {AE AZI37E300A m 168.5
ERAIEE 37300 ® 6.0
X oBR UFI)a—L UF300 m 55
Sk#t 25 G2-B500-L500-H600 =~ 1.0




KT HEXI K5 X

BAHE (M) LHARHE (M)
EE K 1B R T &
A #HE K BB B A—TABHI w2=4m Wi1=4m 1=wi<am WI<im /NRIE
(LB TR WE
m
AZY3FE300A 1685 044 029 741 489
m
UF300 55 030 020 1.7 1.1
il
25 &K i 1.0 290 230 29 2.3
&5t 78.7 52.3
HBREEt= 523




EEREE IE K

EE %
v {1 ¥ {81
B: | =1 £ K g & Al = TE K i &=
AZU3TE AZI3FE
NO2 +50 ~ NO.5 +16.0 71.0 300A NO.O +56 ~ NOJ5 97.5 300A
& &t
ERAE m
AZY3FE300A 168.5




ERAIEES 2 E B E
v {1 ¥ {81
Al =1 £ K g & Al = TE K i &=
NO.3 +9.5 i 6.0 | 3%E300
& &t
ERAES 54
37E300 6.0




UFI1)a—L = ;o=
y. {1 5l {81
Al =1 £ K i & Al =1 TE K i &=
NO.5 +16.0 ~ NO.6 +1.7 55 UF300
&
UFJY)a—LA

UF300

5.5




&k #t E K OB O£
v {1 ¥ {81
B: | =1 £ K g & Al = TE K i &=
NO.5 +16.0 #i& 1.0 25
& i
£k Ldiil
25 1.0 G2-B500-L500-H600




BEAE HEHEE
AZY3FE300A
520
110, 300 110

EiEE)

7~ (37&300)

m-— —
gl g - |
I ]
- , 5 I
] [ 000) 00
WEJLA )L
(1:3)
360 ERRE
(RC-40)
520
£ £ L=10.00m
& B & o o ifié‘gﬂﬁﬁz%
] &  AZY3FE300A 1.0 10000 100 m
EHEILZIL 1:3 0.360 % 0.030 0.0108 10.00 0.108 m3
RC-40
ERBRE oo 0.520 10.00 5.200 m2
R & CADEHBILY 0.44 10.00 44 m3
# R CADEHRILY 0.29 10.00 29 m3




UFEDJYa1—L,300 HEHEE

UF300

374

307
2 275
"" ‘
|C
|
L]

% W | o % prina Kl
==l

UE7Ya—L  UF300 1.00 10000 100 m

K & CADEHAIKY 0.30 10.00 3.0 m3

# R CADEHAI KLY 0.20 10.00 20 m3




25 £kt HEHEE

255Kk

800 800

500 160 150 500 160

160

300
500

{87BARY
3FE3004

750
600

UF300

150

160

0.90

160

bé) 000 !

800

900

UF300{=f& BT mE a= 0.098m2

% B M % % 2t WY osm o omom
aAY9')—k | o ck=18N/mm? 0.800 X 0.800 X 0.750—(0.500 X 0.500 X 0.600) 0.330 (#=£F%AT)  0.330 m3
—(0.300 % 0.300 X 0.150)
—(0.098 X 0.150)
0.302 1 0.302 m3
BB {(0.800+0.800) x 24 Fff
+(0.500+0.500) X 24-Fff} % 0.750 3.900 1 3.900 m2
BEEERR Fff;;g 0.900 X 0.900 0.810 1 0810 m2
#EiMtkE  500-500/ 1 1 1 =K
K 1B 1.80 X 1.80 x 0.900 2.9 1 2.9 m3
® R 2.9—(0.80 x 0.80 X 0.750)—(0.90 X 0.90 X 0.15) 2.3 1 2.3 m3




BEYWHEL # & & 5t X
£ FF Al B ¥ B #HE 5 =
SHERREUEL BRET7RAY t=5cm m2 484.3
BOEHR ., AL FAI7ILE m3 242 484.3x50/100=24.2
avyy)—rEEL E/RFaVI)—k m3 6.1
BOEHR . AL | — m3 6.1
ZREREE MutJovsy H=0.5m m3 0.8 L=16.5m
TREE
BOEH ., AL avy)—k $hEra o) —k m3 0.8




BEYREL WEREHEE

smEEFELY NO. 1
B A2 T RRIER mElEEEY i
E & IHR: @ & EHRE @ &
NO.0 0.0 13.6 0.0
KE1-2 9.6 75 10.55 101.3
NO.1 10.4 5.0 6.25 65.0
KA1-2 15.3 3.2 4.10 62.7
NO.3 24.7 3.3 3.25 80.3
NO.4 20.0 34 3.35 67.0
NO.5 20.0 3.2 3.30 66.0
KA2-1 18.4 1.2 2.20 405
NO.6+0.9 2.5 0.0 0.60 15
&t 120.9 484.3




&

-2V —hEERL
13ROV Y)— &
W, SL

ML o — kA E=

EE WSL
() NO. ~ NO.1 +128 314
(&8) NO.O +58 ~ NO.1 +10.8 278 0.50 0.10

BT E R
0.15
0.05

Vi=

w15
4.71
1.39

6.1




ZRESHE 13 wo=

Y3 LE A {1
pil] =1 £ K 5 & Al =1 E K g &
IOy
NO.0 ~ NO.0 +18.7 16.5 9

& &t

ZREGEE m

ko ovy 16.5




EE (m) |#sarsU—r EHavoy—+
& W s _ W=
% fE %k (BT (m% (m%
WiETovy 16.5 038 A=252kg/2.0+(2500kg)=0.050m2/m
& & 0.8 0.0




HET ¥HE5iFE
& W oo 2L S Bifsr = g =
HEHE
B4ARA RC-30
TERE t=10cm m2 506.5
AR M-30
TR t=10cm m2
FIEAFHE M-30
it t=7cm m2
ZHEF7 X3 t=4cm
= B (W>3.0m) m2
it 7K AL R 2
BARA RC-30
BREET t=10cm m2 379.6
ZHET7 X3 t=3cm
= B (W>3.0m) m2
ZHEF7 X3 t=3cm
= B (1.4=W=3.0m) m2




WEIHERENES

NO. 1
MAAT KM e CReAn | RREE TEEEIn
g & THIREE m & 8 & FTHRE @ B
NO.0 0.0
KE1-2 9.6 RBIFREHESTEE RIRHETTEE LY 60.7
KE1-2 0.0 5.70 0.0
NO.1 10.4 . . : 5.30 5.50 57.2
KA1-2 15.3 \qm\sw\lsi 4.70 5.00 76.5
NO.3 24.7 4.85 478 118.1
NO.4 20.0 4.85 4.85 97.0
NO.5 20.0 4.85 4.85 97.0
KA2-1 18.4
NO.6+0.9 25
&t 120.9 506.5




WEIHERENES

NO. 1
B 5 2 B RPS R ﬁﬁ?k?ﬁ ﬁ%?ic:(w<1.4m) _ﬁﬁffkmi ﬂ%_ﬂilmcm "
g & THIRE m & 8 & FTHRE @ B

NO.0
KE1-2 9.6 RIRHETTEE LY 44.8
KE1-2 3.70
NO.1 10.4 1.66 2.68 27.9
KA1-2 15.3 2.10 1.88 28.8
NO.3 24.7 3.39 2.75 67.9
NO.4 20.0 5.19 4.29 85.8
NO.5 20.0 7.24 6.22 124.4
KA2-1 18.4
NO.6+0.9 2.5

&t 120.9 379.6




%ﬁ%é&%gkﬁ% S=1:500

NO.0O~KE.1-2

BESHE
FE(t=4cm) A= 637 =63.7 m2
LEB@t=10cm) A =63.7-0.15%(8.7+11.4) =60.7 m2
TRE(t=10cm) A =63.7-0.15x%(8.7+11.4) =60.7 m2
BB{t=Tcm) A=0.25x%(8.7+11.4) = 5.0 m2

it 7K A0 3 S
FEt=3cm) A= 460 = 46.0 m2

PREET(t=10cm) A =46.0-0.10%125 =448 m2




ERAERRT HELHE

% FR Bl R g B {3 BE & &
wEav7)—k W=0.50m,t=0.10m m 49.6
RO —k 134 W=0.48m, t=0.10m m 132.4
2% W=0.48m, t=0.10m m 325
BHEIVH)—k 184 L=1.00m, t=0.10m m 426
2% F#JL=0.50m, t=0.10m | m 55
Kid) L=1.50m, t=0.10m m 64.4
47 FJL=0.75m, t=0.10m | m 62.7
AR W=3.0 vdiil 1.0




BEavs)—k 5 E FH
i {21 A {1
b:l| =4 T & & A J=1 E R s &
NO.0 ~ NO.2 +50 42.6
NO.5 +125 ~ NO.6 7.0
& §
BEavo)—k m
49.6




BEaLyY—hk e RO=E
v {21 A {1
A =1 T R s & pil| J=1 E R w =&
NO.2 +50 ~ NO.5 +125 67.4 138 NO.0O +56 ~ NO.1 +15.3 32,5 2%
NO.1 +153 ~ NO5 65.0 18
& §
RaVH—k
18 132.4

28!

32.5




BiEa)—h it ;HoOo=
v {21 A {1
A =1 TE K s & Al J=1 E R w =&
NO.0 ~ NO.2 +5.0 426 18 NO.1 +153 ~ NOJS5 62.7 47
NO.2 +50 ~ NO.5 +125 64.4 3%
NO.5 +125 ~ NO.6 5.5 2%
& §
BFEa> 91—k m
18 42.6
m
281 55
m
37 64.4
m
Eid] 62.7




AR & HE
x 1 A ]
b | = T E % = Al I T R % =
NO.3 +9.5 ik 1.0 W=3.0
& F
A Ll
W=3.0 1.0




BRIV )—hk

500

avoy)—pk
(o ck=18N/mm2)

SN |
i
. p13 ‘I—\’L . —_
£ W B & ) 2t *’;41) £ E % B
8
a9 —bk | ock=18N/mm?| 0.500 % 0.100 0.0500 10.00 0.500 m3
i) % 0.100x 2 0.2000 10.00 2.000 m2

B 44 0.500 X 0.100 0.050 1.00, 0.05 m2




18RI D) —b

1000
480
N =
380 avgl)—Fhk
1 o ok=18l /2
. = ‘L\IL . —_
& | & ) e *Afié‘;ﬂﬁéﬁz
==}
a9 —bk  ock=18N/mm? (0.480+0.380) X 1/2 % 0.100 0.0430 10.00 0.430 m3
i) B 10.00 — m2
B #th4t (0.480+0.380) X 1,/2 X 0.100 0.043 100 0.04 m2




2815k ) —k

1000
480
~ | g1
430 ag1)—Fk
lj o ck=18N/mm2
. = ‘I—\IL . —_
& | & o e 2SY 2 g oy B
H =
a9 —k  gok=18N/mm® 0.480 X 0.100 0.0480 10.00 0.480 m3
i) B 0.1000 10.00 1.000 m2
B 44 0.480 X 0.100 0.048 1.00  0.05 m2




18BREI D) —F

avol)—hk
o ck=18N/mm2

£ £ L=10.00m
: B s 2 | v o
£ | ) e *’;41) £ £ M B
==}
a9 —bk o ck=18N/mm? (1.000+0.944) X 1/2 % 0.100 0.0972 10.00 0972 m3
it B 0.000 10.00 — m2
B tth #f t=10mm (1.000+0.944) x 1/2 % 0.100 0.097 1.00 0.10 m2




2BIFEOV D) —k

ag1)—Fk
o ck=18N/mm2

w&

£ £ L=10.00m
. = ‘I—\IL . —_
£ | ) e *’;41) £ £ M B
==}
a9 —bk o ck=18N/mm? (0.500+0.444) % 1/2 % 0.100 0.0472 10.00 0472 m3
it B 0.000 10.00 — m2
B tth #f t=10mm (0.500+0.444) x 1/2 % 0.100 0.047 1.00 0.05 m2




avgl)—Fk
o ck=18N/mm2

3BIFEID)—b

£ £ L=10.00m
R BT L . =
£ W B & ) 2t *Afi = 7 g % =B
8
aA9')—k  ock=18N/mm? (1.500+1.500) X 1/2 X 0.100 0.1500 10.00 1.500 m3
B g 1000  — m2
B #h # t=10mm (1.500+1.500) X 1/2 % 0.100 0.150 1.00 0.15 m2




ABRIBFEOV D) —b

avol—F
o ck=18N/mm2

£ £ L=10.00m
. p13 ‘I— sz L . —_
£ W B & ) 2t *Afi = 7 g % =B
8
a9 —bk g ck=18N/mm? (0.750+0.750) X 1/2 % 0.100 0.0750 10.00 0.750 m3
pin) 2 10.00 — m2
B #h # t=10mm (0.750+0.750) X 1/2 x 0.100 0.075 1.00 0.08 m2




